10

Ratio to Pythia 8.308 default
[N

0.5

7000 GeV pp Top (parton Ievel)

- T 7 ez
= =3
= M (ttbar) (pTtt < 50 dy < 0) =
— 1=
__ —a— Pythia 8.308 default i
= Pythia 8.308 tune-1 3N
— Pythia:8:308.tune-2c =
= Pytfiia 8. 308 tUNE-2M;; =
- $ 19
| / _
= 3 =
— Z $8854.4 oo —
= & El5
— f\ p— m
— 3 -1
=— =5
— ] -] m
| e |
— 1.2
-
= =K
— i
- 416
- e
= =R
— e
L —
- -2
L 1O
= 5
= | | | | | | | | | | | | | | | = =
:l T T T | T T T | T T T | T T T |:

— =2
1
L —0.5
1 1 1 | 1 1 1 | 1 1 1 | 1 1 1 |
200 400 600 800 1000



	Contents
	Page 1


